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AGA KHAN UNIVERSITY EXAMINATION BOARD
SECONDARY SCHOOL CERTIFICATE
CLASS X
ANNUAL EXAMINATIONS 2022
Computer Science
Total Time: 1 hour 40 minutes
Total Marks: 50 (40-Theory & 10-Alternate to Prac@

INSTRUCTIONS \
1. Read each question carefully. (8,\' QQ

*

2. Answer the questions on the separate%wer sheet provide bo NOT write your answers on the
question paper.

3. There are 100 answer num th*a\ns@ sheet. %&nswer numbers 1 to 50 only.
4. Question Distributio@\ N @

Theory Alternate to Practical
\ 40 MCQG, 10 MCQs
5. In each n, there are four ¢igjces A, B, C, D. Choose ONE. On the answer grid, black
out th for your choice \@ ncil as shown below.
C‘orrect Way Alncorrect Ways Candidate’s Signature

HOJO] IORXOIOGIO,
2®EOO
s @OE®O
t®EOO

6. If you want to change your answer, ERASE the first answer completely with a rubber, before
blacking out a new circle.

7. DO NOT write anything in the answer grid. The computer only records what is in the circles.

8. The marks obtained on the 40 MCQs will be equated to the total marks of 65 for the theory
examination results.

9. You may use a simple calculator if you wish.
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THEORY (Questions 1-40)

1. If a flowchart continues on the next page, then the symbol used to join the flowchart is

A. Terminal.

B. Flow Lines.

C. On-Page connector.
D. Off-Page connector.

2. The figure that shows the iteration control structure of flowchart is

N
\

—>{ Process 1 Process 2 —> ’\ tes

B

\

Process 1

v

Process 2

v

Process 3

v

D
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3. Consider the given flowchart symbol.

The flowchart symbol is used to represent the

A. decision in a flowchart. (1(/1/

B. processing in a flowchart.
C. input and the output in a flowchart.
D. starting and the ending in a flowchart. (l/ A

4. Consider the given statement.
PRINT A, B

The flowchart symbol that must have this statement is

A. output. (é'\' .\Q\J.)

B. process. . Q
C. decision. Q
D. terminator. O\ \
¢ (749
5. Read the following actions: ‘
<) L e
. Find out what the problem asks to do.
. Carefully read the problem to understand it.
o What information can be obtained from the problem?
o Find out requirements for the solution of the problem.

A\ AN

The step of problem solvmg process in which these actions are performed is
N
%. defining the o em.
B. analysi problem.
C. genera@solutlons of the problem.
D. ,{e@ he best solution of the problem.
6. In problem solving, the factors on which the selection of final solution should be based are

l. cost

Il. speed

II. repetition
IV.  complexity

A. I1and I1I.

B. I, I1and I1I.
C. I, Iland IV.
D. I, 1l and IV.

PLEASE TURN OVER THE PAGE
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7.

Consider the given algorithm.

Step 1: Start

Step 2: A=10

Step 3: B=6

Step 4: C=A%B

Step 5: X=C*B

Step 6: B=B+2

Step 7: IF B<10 THEN GOTO Step 4

Step 9: Stop N

Step 8: Output X Q(I/(l/

The output of this algorithm is

A 10 Q
B. 12
C. 16 . O

D. 24 A\\ I\Q)

Consider the given algorithm.

WS
Step 1: Start 3@ M &
Step 2: Let the number X be%' be 3 O
Step 3: Initialize P=1 and Q= 5\ Q(b'
Step 4: P=P*X d‘ v
Step 5: Q=Q+1

Step 6: If Q<YNhen GOTO Step 4 othe%e GOTO Step 7

Step 7: Out®

Step 8: S

V-

N~
The output of this algorithm is
At\\5‘ aAN

B. 25
C. 125
D. 625

~

The rules of a programming language to write a program are referred as

A. syntax.

B. semantic.

C. debugging.
D. compilation.

S52202-0921110
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10.

11.

12.

13.

14.

The C compiler translates a

A. machine code into object program.

B. source program into object program.

C. machine code into C language program.
D. C language program into source program.

Which of the following statements is FALSE about assembly language?

A It consists of mnemonics.

B. It is translated into machine language by using interpret (1/
C. It requires less execution time and less storage than ?‘lé
D. It is a program that must be converted into machiﬁ%

| language.
age before execution.

4
In contrast to compiler, an interpreter

)
A. requires more memory to operate. 06 \
B. translates an entire program at a time. O
C. generates an intermediate object OON

D. displays error in each line one QQ Q
~ Na N

The declaration of a variable con5|sts of

A variable’s value follo by varigble’s name.
B. variable’s data typ 0 ed iable’s
C. variable’s name ed le’s d pe

D. variable’% owed arlable @

The memory space occupied by float data type is

A 1 .
B. S. %
o Qo QO

v

X

PLEASE TURN OVER THE PAGE
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15.  Consider the given C program.

#include <stdio.h>

int main()

{
int a=10, b;
float c=75.99;
b=a+c;

printf("Answer is: %d", b); (1(/1/

return O;
} ‘LQ
\
The output of this program is

N N
B B9 ‘ OQ CS’\

C. 86

D. Error
o D

16.  Ina C program, which of the following comes before the main() function?

A. Local variable Y « Q
B.  Global variable (b'& O (b"&
C. f() funct

D. Z(;?r?tf(()) fﬂrr]l(étli%rr]&} 5\ @

Vs
17.  Consider the given arithmetic expression having variables A, B, C, D, E and F.

ABC +DEF

How many types of arithmetic operators will be used if the given expression is converted into
C statement?

A \One \Q\
B.Y Two ()
C. Five %,
D. Six &Q

18. Consider the given C statement.
W=X%Y;

To store value 3 in variable W, the values of X and Y should be

A X=3,Y=9
B. X=9, Y=3
C. X=18, Y=5
D. X=5,Y=18

S52202-0921110
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19.  Consider the given statement.

Z=X&&Y;

The statement Z=X&&Y; is replaced with Z=!(X||Y);

Now, to store value 1 in variable Z, the values stored in variable X and variable Y are

Value Stored in Variable X | Value Stored in Variable Y
A 0 0 n‘
B 1 0 v
(\ »
c 0 '
D 1 (o)

Use the given program to answer Q.20 and Q.21.

LQ)

*

#include <stdio.h>
int main()

int a=5, b=10, c=15;

&

. ’ Q"b’ .
O&

a=b*c; \
D«
b=a; Qj‘
--b; V
c=b+c-5; x %,
printf("a:%(f‘,ﬁ od, c=%d", a, b, c);
return O;

b AN

20.  The number of binary operators used in this program is

]

C. .
D. SIX.

O
Q:K’O“

21.  The output of this program is

a=151, b=151, c=160
a=151, b=150, c=160
a=150, b=151, c=165
a=151, b=151, c=165

COw>

PLEASE TURN OVER THE PAGE
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Use the given program to answer Q.22 and Q.23.

23.  The output of this program is

A 0 . Q
D.  Error P +®' 5\ Q

24.  Consider the given statement.
int y=2+3%*6/2;

The value stored in the variable y is

¢ 5 N
| 6‘0,0

#include <stdio.h>
int main()
{
int j=25, k=50, m;
m=(>k) ?j:k;
printf("%d", m);
return O; (‘l/
) QY
AN
22, In this program, the statement m=(j>k) ?j:k; is similar to
A if-else statement.
B. for loop statement. Q
C. while loop statement. O
D. output function statement. ¢
x D QY

S52202-0921110
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25.  Consider the given program.

#include <stdio.h>

int main()

{
int ¢, a=5, b=-10, x=4, y=2;
c=a++ - --b*y/x;
printf("c=%d", c);

return O; (1/
) QY
NN
The output of this program is
A5 9 N\
B. 6
: N
D. 15 ’\
% AN\
26.  Consider the following output.
Value of Y=25
Which of the following C codes will show this output?
fa g\V ‘O~
A 4 A4
int Y=25; Y=25;
puts("Value of &' /'25") \/puts("VaIue of Y=25",Y),
A B
int Y= > =~ int Y=25;
pri alue of Y=%d", "YQ) printf("Value of Y=%d", Y);
A fa. N\
c D
L\ M

27. Braces are required in if-else statement when

\J
r@%ement is executed.

of statement is executed.

A.

asi
B. &
C. théwe is a comment after the condition.
D

there is no statement after the execution.

PLEASE TURN OVER THE PAGE
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28. In switch-case structure, the data type of expression should be
l. int
Il. char
. float
A | only.
B. Il only.
C. either 1 or 1l.
D.  either Il or I1l. Q/
N
29. In C language, if the case against the evaluated result of switch statement is not present, then

the statement executed will be

"
A.  else statement. %
B. else—if statement. 6 \

C. default statement. Q (9

D. otherwise statement.
Q‘ 0
30.  Consider the given C statement.
if((X%4==0)&&(X%100!=0))||(X%400==0))

This statement will be evaluated as TRUE when the value of X is

- \ \ -
A 1000 @& \0
C. 1500
D. 2000 \/

31. A for loop code is written to perform 4 repetitions.

Which of the following expressions of this for loop will increase the value of counter variable?
~

A ‘
W
D. ) (b"
&Qz

S52202-0921110
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Use the given program to answer Q.32 and Q.33.

#include <stdio.h>
int main()
{
int x=15;
do
{ (1/
printf("%d", x);
X++; (1/
) Q
while(x<=10); (1/ %
return O;
} S A
& c
32.  The output of this program is N\
Ao X O
B. 10 (b' . Q
C. 15 . Q Q\
D. 25
Q& N«

33.  The program needs to print integer values from 1 to 10.

The option that shows the CORRECT replacement of programming statement to give this

output is

a Q\,

Replacement of Original Statement

Original Statement
\ >4
AN

D)
» A3
whiQ(x§t10); while(x==10):
N\ .
?‘ C x=15; int x=1;
7
D ONDrNtE("9%d ", ) Printf("%d ", x++);
\ 4

V4 ]
34.  The loop that is also known as counter loop is
A J

A. for loop.

B. while loop.

C. do-while loop.
D. repeat-until loop.

PLEASE TURN OVER THE PAGE
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35.  Which of the following statements will skip the rest of the loop statement(s) and start the next

iteration?

A. break

B. continue
C. switch
D. do-while

36. If the condition is FALSE at the first iteration in do-while loop structure, then it will

A give logical error. (1(/1/

B. execute the statement once.
C. execute the statement twice. Q
D. fail to execute the statement. (1/
A

37.  Consider the following code.

N \Cd N
#include <stdio.h> O\

int main() ¢
N\
{
int i=1; (8'\' . QQ
while (i<=5) . Q

{ & N\
s o S g
) & v

return O;
}
.

The given co:d'e will display the outpm&/
A. GQ O\Q
BVl 4 \Q

C. 135 0

D. 41220 ®~

&Qz
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Use the given program to answer Q.38, Q.39 and Q.40.

#include<stdio.h>

int main()

{
int i=5, j=10;
do
{

printf("Computer Science \n");} (1(/1/

while (i++ < j--);

| N
, return 0; (1/ %
Cn \

38. How many times the output Computer Science will be shown?

A2 ,\o\' o
c. 4 X, Q
D. 5 (\@ o\ Q

39. If printf("Computer Science \n"); is replaced by printf(“%d \n”,j); then the output will be

NP SR SR
10 . N9
9 (b' \ Q(b' 8
& 7
\/ 6
A B
(O.‘ 9 10
0 8 q 9
O (AR A 8
o— ;
. I o
40. If we write the same code using while loop, then the difference in number of iterations will
[¢
A. t ignificant.
B. ne less than do-while.
C. be two less than do-while.
D. be one more than do-while.

PLEASE TURN OVER THE PAGE
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ALTERNATE TO PRACTICAL (ATP: Questions 41-50)

41. In C language, the purpose of scanf() function is to

A take input from the user.

B. display output to the user.

C. scan each loop in a program.
D. scan each error in a program.

42.  Consider the following mathematical formula.
A=7r?

The C equivalent expression for this formula is

A= 7 *r? Q
A= *r*r
A=3.141%*r? . 0

A=3.141*r*r \
A\v

Cow>»

Use the given program to answer Q.43, Q.44 aqj Q.45.

PN

A d

#include <stdio.h>
int main()

q ox
int a=9.3; 6
float b=10.5;

float c=a+b; \
printf("c=%.2f", c@o
O

v/
return O;

r QO : QQ)

S & <
\O@(b'

NN AN .
43.  The number of format specifiers in this program is

\Y
A one. @@

B. two.
C. three!
D. four.

44.  The output of this program is

A 19.00
B. 19.50
C. 19.80
D. 20.00
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45. If the data type of variable c is changed into an integer, then the output of this program would
be
A. 19
B. 195
C. 19.8
D. 20

46.  Consider the given program.

N
#include <stdio.h> /4
int main() Q(L
« V

int J=10; J+=5;
printf("%d",J);

return O;
} . O

The output of this program is ‘O

S \N
D. 15 ) @®\O &

Use the given information to answer Q.47 and Q. 48

A program is written to display whether the triangle is equilateral, isosceles or scalene on the basis of
the length of sides of a triangle given as input.

(Note: A triangle with unequal sides is called scalene triangle, a triangle with two equal sides is called
isosceles triangle and a triangle with all equal sides is called equilateral triangle.)

47.  The condition that will give an output as isosceles triangle is
N\

' {oeb
A. if(side &&sidel=side3&&side2=side3)

B. |f s@ de2||sidel=side3||side2=side3)
C. =side2||sidel==side3||side2==side3)
D. ==side2&&sidel==side3&&side2==side3)

48.  The structure that will facilitate in getting the desired output is

if structure.

if-else structure.
if-else-if structure.
switch-case structure.

COow>

PLEASE TURN OVER THE PAGE
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Consider the given program.

#include<stdio.h>
int main()
{
int Z;
printf("Enter a number: \t");
scanf("%d", &2);
if (Z>10) (l/
printf("Hello World"); (1/

return O; (19

}

The input that will give Hello World as an output is

A -12 ,\ O\ ) O v
B. -10
c o > O

Consider the given program.

?tr:?ﬁl]:(ijre(;stdio.m (b} 5\\) e
¢ Qj‘
int n=10, i;
for (i=1; i<=p; ++i
{or (|. i \ i) %,
, prmtf(é‘@bn\n"); q
r@{@: .\’Q
> o

The loop will repeat the code infinitely when the loop statement is

for(i=1
for(w& --|)
for(i=1; 13=n; ++i)

for(i=10; i<=n; ++i)

COow>

END OF PAPER
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